
1) (65)14

Answer: ____________

2) 76 + 31

Answer: ____________

3) 95 / 917

910

Answer: ____________

4) 112 * 120

Answer: ____________

5) 59 + 47

Answer: ____________

6) 25 + 48

Answer: ____________

7) 87 + 36

Answer: ____________

8) 98 / 919

Answer: ____________

9) s15 / s17

Answer: ____________

10) 515 / 58

515

Answer: ____________

11) 99 + 6

Answer: ____________

12) 81 + 32

Answer: ____________

13) 58 + 45

Answer: ____________

14) 66 + 15

Answer: ____________

15) 72 + 7

Answer: ____________

16) 54 + 55

Answer: ____________

17) (815)15

Answer: ____________

18) 30 + 57

Answer: ____________

19) 22 * 22

Answer: ____________

20) (q17)14

Answer: ____________

21) 71 + 60

Answer: ____________

22) 15 / 110

Answer: ____________

23) 60 + 46

Answer: ____________

24) (23)7

Answer: ____________
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25) 49 + 24

Answer: ____________

26) 617 / 610

65

Answer: ____________

27) (n3)14

Answer: ____________

28) 83 + 32

Answer: ____________

29) 316 / 35

Answer: ____________

30) 619 / 614

Answer: ____________

31) 62 + 23

Answer: ____________

32) (n19)3

Answer: ____________

33) 77 + 32

Answer: ____________

34) 27 + 6

Answer: ____________

35) 51 + 74

Answer: ____________

36) f4 / f18

Answer: ____________

37) (93)11

Answer: ____________

38) s9 * s14

Answer: ____________

39) f2 * f9

Answer: ____________

40) 93 + 65

Answer: ____________

41) (46)4

Answer: ____________

42) 66 + 15

Answer: ____________

43) 61 + 46

Answer: ____________

44) 910 / 911

93

Answer: ____________

45) 72 + 100

Answer: ____________

46) n10 * n3

n12

Answer: ____________

47) 5 + 13

Answer: ____________

48) 22 * 218

Answer: ____________
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49) 77 + 10

Answer: ____________

50) (35)15

Answer: ____________

51) (47)14

Answer: ____________

52) 78 + 17

Answer: ____________

53) 213 * 26

29

Answer: ____________

54) (31)11

Answer: ____________

55) 21 + 30

Answer: ____________

56) 48 + 42

Answer: ____________

57) (f18)17

Answer: ____________

58) 76 + 76

Answer: ____________

59) n15 * n18

n7

Answer: ____________

60) (411)17

Answer: ____________

61) f17 * f7

Answer: ____________

62) 95 * 913

911

Answer: ____________

63) (q20)15

Answer: ____________

64) 417 / 41

43

Answer: ____________

65) 6 + 63

Answer: ____________

66) 16 + 59

Answer: ____________

67) 220 * 28

212

Answer: ____________

68) 33 * 313

Answer: ____________

69) n15 * n9

n18

Answer: ____________

70) 4 + 16

Answer: ____________

71) (415)8

Answer: ____________

72) 910 * 918

Answer: ____________
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73) 35 + 95

Answer: ____________

74) (910)17

Answer: ____________

75) n20 / n7

Answer: ____________

76) s13 / s18

s18

Answer: ____________

77) 820 * 820

Answer: ____________

78) 62 + 49

Answer: ____________

79) 54 + 34

Answer: ____________

80) 31 + 90

Answer: ____________

81) (82)11

Answer: ____________

82) 41 + 72

Answer: ____________

83) n1 / n7

n16

Answer: ____________

84) 55 + 65

Answer: ____________

85) 87 + 41

Answer: ____________

86) 57 + 92

Answer: ____________

87) f8 * f14

Answer: ____________

88) (110)4

Answer: ____________

89) (s20)1

Answer: ____________

90) 613 * 64

69

Answer: ____________

91) 97 * 912

95

Answer: ____________

92) (55)19

Answer: ____________

93) (69)17

Answer: ____________

94) 30 + 100

Answer: ____________

95) (514)7

Answer: ____________

96) 85 + 38

Answer: ____________
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97) q20 * q7

q15

Answer: ____________

98) n6 / n20

Answer: ____________

99) n6 * n16

Answer: ____________

100) 24 + 98

Answer: ____________

Total: ___ / 100
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Answers:

1) 670 2) 107 3) 912 4) 132 5) 106 6) 73 7) 123

8) 9-11 9) s-2 10) 58 11) 105 12) 113 13) 103 14) 81

15) 79 16) 109 17) 8225 18) 87 19) 24 20) q238 21) 131

22) 1-5 23) 106 24) 221 25) 73 26) 622 27) n42 28) 115

29) 311 30) 65 31) 85 32) n57 33) 109 34) 33 35) 125

36) f-14 37) 933 38) s23 39) f11 40) 158 41) 424 42) 81

43) 107 44) 918 45) 172 46) n1 47) 18 48) 220 49) 87

50) 375 51) 498 52) 95 53) 210 54) 311 55) 51 56) 90

57) f306 58) 152 59) n26 60) 4187 61) f24 62) 97 63) q300

64) 415 65) 69 66) 75 67) 216 68) 316 69) n6 70) 20

71) 4120 72) 928 73) 130 74) 9170 75) n13 76) s13 77) 840

78) 111 79) 88 80) 121 81) 822 82) 113 83) n-8 84) 120

85) 128 86) 149 87) f22 88) 140 89) s20 90) 68 91) 914

92) 595 93) 6153 94) 130 95) 598 96) 123 97) q12 98) n-14

99) n22 100) 122
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